



姓名: _____

日期: _____ 分數: _____

$$2\frac{1}{3} + \frac{1}{3} =$$

$$\frac{2}{8} + 1\frac{2}{3} =$$

$$\frac{6}{7} + \frac{4}{5} =$$

$$1\frac{2}{5} + \frac{4}{6} =$$

$$\frac{2}{8} + \frac{7}{9} =$$

$$\frac{5}{9} + \frac{1}{9} =$$

$$\frac{4}{9} + \frac{7}{9} =$$

$$\frac{2}{6} + 1\frac{1}{2} =$$

$$2\frac{1}{3} + \frac{5}{6} =$$

$$1\frac{1}{5} + \frac{3}{7} =$$

$$\frac{4}{9} + 2\frac{1}{3} =$$

$$\frac{7}{8} + 3\frac{1}{2} =$$

$$\frac{4}{5} + \frac{4}{8} =$$

$$\frac{3}{6} + \frac{1}{3} =$$

$$\frac{3}{8} + \frac{2}{8} =$$

$$\frac{4}{9} + \frac{2}{8} =$$

$$\frac{3}{6} + \frac{2}{7} =$$

$$\frac{2}{5} + 1\frac{1}{5} =$$

$$1\frac{1}{4} + \frac{1}{9} =$$

$$\frac{6}{7} + 1\frac{1}{6} =$$



姓名: _____

日期: _____ 分數: _____

$$2\frac{1}{3} + \frac{1}{3} = \frac{8}{3} = 2\frac{2}{3}$$

$$\frac{2}{8} + 1\frac{2}{3} = \frac{23}{12} = 1\frac{11}{12}$$

$$\frac{6}{7} + \frac{4}{5} = \frac{58}{35} = 1\frac{23}{35}$$

$$1\frac{2}{5} + \frac{4}{6} = \frac{31}{15} = 2\frac{1}{15}$$

$$\frac{2}{8} + \frac{7}{9} = \frac{37}{36} = 1\frac{1}{36}$$

$$\frac{5}{9} + \frac{1}{9} = \frac{2}{3}$$

$$\frac{4}{9} + \frac{7}{9} = \frac{11}{9} = 1\frac{2}{9}$$

$$\frac{2}{6} + 1\frac{1}{2} = \frac{11}{6} = 1\frac{5}{6}$$

$$2\frac{1}{3} + \frac{5}{6} = \frac{19}{6} = 3\frac{1}{6}$$

$$1\frac{1}{5} + \frac{3}{7} = \frac{57}{35} = 1\frac{22}{35}$$

$$\frac{4}{9} + 2\frac{1}{3} = \frac{25}{9} = 2\frac{7}{9}$$

$$\frac{7}{8} + 3\frac{1}{2} = \frac{35}{8} = 4\frac{3}{8}$$

$$\frac{4}{5} + \frac{4}{8} = \frac{13}{10} = 1\frac{3}{10}$$

$$\frac{3}{6} + \frac{1}{3} = \frac{5}{6}$$

$$\frac{3}{8} + \frac{2}{8} = \frac{5}{8}$$

$$\frac{4}{9} + \frac{2}{8} = \frac{25}{36}$$

$$\frac{3}{6} + \frac{2}{7} = \frac{11}{14}$$

$$\frac{2}{5} + 1\frac{1}{5} = \frac{8}{5} = 1\frac{3}{5}$$

$$1\frac{1}{4} + \frac{1}{9} = \frac{49}{36} = 1\frac{13}{36}$$

$$\frac{6}{7} + 1\frac{1}{6} = \frac{85}{42} = 2\frac{1}{42}$$